Fan’ ensheng 3018

pro—s




LASER FOCUS REDUCE HEAT AND GLARE WHICH CAM HARM HUMAMNANIMALS
AND OBJECTE.DO FOLLOW THE INSTRUCTION.MISUSE WILL BE AT YOURCWN RISK.

Avoid direct eye
contact, may lead

to blindness

Avoid combustible

object or gas.

Do NOT use it
on material that
reflects the light

@

Avoid exposure to
body surface,

it burns

Keep it away from
incompetent people,
such as children or

pregnant women

Wear goggles

while using

ffl

&

P

Put base plate
under the

workpiece

Do NOT take apart
the laser without

instructions

Turn off the power

when not use




Pro duct parameters:

The weight of the whole machine is about 5.5-8kg plus packing (depending on the packaging
and configuration).

Machine travel: 3018:30*18*40mm

Input power: DC24V

Positioning accuracy: 0.08-0.1mm (as machine rigidity causes slower carving speed, higher
accuracy).

Product accessories:

Mechanical engraving machine: spindle motor *1, power *1, data line *1, graver *1.

Laser engraving machine: spindle motor *1, power *1, data line *1, knife *10

protective glasses *1.

Other features:

* this machine is a learning kit for beginners. The whole set of parts is hands-on, and it is
equipped with an installation course. After receiving the goods, it is requested to ask the
shopkeeper.

* before buying, all CNC engraving machines are just engraved by G code, not directly
entering drawings. He automatically engraving (laser engraving we have special software to
directly import pictures). The software that generates G code requires a lot of users to learn,
and we provide tutorials and learning materials.

This machine is the simplest kit installed in Taobao at present, although it is partly known as
all metal fuselage, but the use of L type iron sheet splicing makes the whole metal lose its
original meaning.

This machine adopts specially developed laser / engraving integrated motherboard with
customized software function far beyond similar models.

Motor can engraving / cutting wood, plastic, acrylic, PCB copper clad laminate, soft metal
aluminum copper (non cutting) and other materials.

Do not carve hard metal, jade and other very hard objects.

Laser can engraving paper, wood, plastic, leather and other materials, and can not engrave
metal, jade and transparent high reflective materials with hard texture.

This machine is an entry learning machine. It can not be compared with commercial machines.
After all, the price difference is one hundred and eight thousand li.



1: Installation steps

Bakelite-B

2040*290mm x2Pcs

©10*300mm x2Pcs
Slider x4Pcs

Blot M5*16 x12Pcs
Bakelite-A

Y



Bolt M5*16 x10Pcs
Step-motor
Nut M5*16*16 x10Pcs Coupling

Lead screw (295mm)
Bolt M3*14 x4Pcs

Set screw
Coupling

Lead screw '\ /\
2 o O
X X

a Copper nut

Completed

Top view Bottom view




2020*360mm x2pcs

@10%370 x2pcs Lead screw (365mm)

Step-motor
Coupling

Blot M5*16 x4pcs

Bolt M3*14 x4pcs

46.5mm



M5*25mm






M5*25mm













| ST

A

Four wire laser PIE#IHEI4A BHEL Offline el
module output il EHE  control - Hij# power
FF Rk switch

| ’ board
USB link

interface

| usssin

Spindle motor

output
EHEH \ 24V DC input
il 0 et ® . E1E] —  2AVERHA

z 1 Y2 x  BEAR amwx
HiA Connected to emergency
+ - ttl

stop switch



Cnnnect\to CNC TF Card
° Ze m | N o
X-f— X+/—
™~ oK/spindle
Y-/l ™=~ step/Exit(long press)
Oz O
Function Key
Move Page :
Move XY Z: X+ X- Y+ Y- Z+ Z-
el ] x+ | v+ || 2+ ||SPN Spindle on/off : | A(Spindle)
X- | v- |[ z- || X1 Step : B(Step)
Back : B(Exit(long press))
Move Page
SD := B IPHONE~1.NC OK Ready To Print OK | Printed : 1%
[cet ] it |[sset ]| | e D @ D @
Main page File Select Confirm Running
1 Move : Bdrte :
=10mm/T| 9600
Sset 0.1mm/T| ®115200
1Imm/T
note : Long press 7+ to Smm/T Baud rate: 115200
change language Setting
2: Drive installation
é LIZE
CH340SER | o X6 == =
ED Al
EEINFT 4 CH341SER.INF -

WCH.CN
|__ USB-SERIAL CH340
|__ 11/04£2011, 3.3.2011.11

H#

W Bh




Double click the left mouse button to install the driver file, After the installation is
successful, open the device manager, and the linked machine will display the
control board port, indicating that the driver file has been successfully

installed.

R EER) EE(V)  EEIH)
as | m Hal®

4= PC-20200614CMMQ

» -5 IDE ATAJATAPI 525158

bl_-? Jungo

Di libusb-win32 devices

b[P meEE

-3 aEs

by BB

o3P Bt

43 &[0 (COM #1 LPT)

[ 75 USB-SERIAL CH340 (COM7)
T BEE0 (coMy)
b8 SHESH,

'j""’,";' s

b O AMEEEARE

pod EE. USRS
b AT
o EESTRESE

D-jﬂ PSR

b8 GRS

R

— —
Next, run the
software

=& . EMEs 2w Hrhh
| platforms 2019/10/17 %:29 7=
| translations 2019/10/17 9:29 =
5] grblControl.exe 2016/3/7 17:38 RIFRTER 666 KB
%] icudt53.dll 2016/3/7 17:38 R 21,061 KB
%] icuin53.dll 2016/3/7 17:38 HEEETE 3,671 K8
%] icuucs3.dll 2016/3/7 17:38 REEETE 2,045 KB
%] libgee_s_dw2-1.dll 2016/3/7 17:38 RIS 118 KB
%] libstde+ +-6.dIl 2016/3/7 17:38 RIFIEE B 1,003 KB
%] libwinpthread-1.dll 2016/3/7 17:38 RIFEEETE 48 KB
|| LICENSE 2016/3/7 17:38 by -2 35 KB
%] Qt5Core.dll 2016/3/7 17:39 RIFEET 2 4727 KB
] QtSGuidll 2016/3/7 17:39 RIFIERT B 5,133 KB
%] Qt50penGL.dIl 2016/3/7 17:39 MARETE 328 KB
%] QtSSerialPort.dll 2016/3/7 17:39 fmizz it = 94 KB
] Qt5Svg.dll 2016/3/7 17:39 RIFIERT S 322 KB
%] Qt5Widgets.dll 2016/3/7 17:39 MERETE 6,325 KB
%] QtSWinExtras.dll 2016/3/7 17:39 EREETE 236 KB
| settings 2019/12/8 17:07 EERE 3 KB



iphoneF200.nc - grblControl

G|

== = |

File

G-code program

4 |

[] cheek [¥] Serall Open | Heset |

E | |
[50 G54 G617 621 G30 63 Y Settings ('8 e TS
—0. 200
: Select port
Connection Connection /
GREL S —— =0. 200
Fort: CONT - Baud: 115200 * .
e Default 115200 | |[°
- E erau
Visualizer GEBI
. Tool mode Query period: 40 Safe Z: 10. 000
o Rapid speed: 500 heoceleration: 25 -
Panels Spindlesapeed-nins 00 v 1000
Colors
L-probe commands:
Font SRR
GR1GEL, G368, ZI-30F100; GOZ1; G338, ZI-1F10
7 _0_200. 3000 Heightmap probing feed: 10
36.554 / 10.418 / 3.200 Riperitimiie [Metric ']
-
% Farser $ for
87 502 ¥22.0007 Y1 Set to defanlts [ 0K ] [ Cancel ] P < ok
E <ok
h
88 G02 X20.6714 Y1.. 0 < ok
o = @ Q (Gl S

Send Abort

Fanze

[ J'l

G-code program

Working coordinates

State

\ [6D| 654 GIT GZ1 GAD 694 MO NS M3 TO FO. 50.]

Tool path Preview

Work coordinates:

- -
i LT 0.000 0.000 0.000
- Machine coordinates:
L] »
0. 000 0. 000 0. 000
KA
& Status: Idle
R Centrol XY resetZ clear

Qjjajjte ||
=7 (0%

e 00:00:00 / 00:01:28 return reset Unlock
10,418 Buffer: 0/0 | _ giom.
Z: -0.200 ... 3.000 Vertices: 2878
: oo
38.554 / 10,418 / 3.200 FES: BO S
) [CTRL+X] =
# Comnsarcd Ctate i Serial port error 2. 3EEEIH|A]e
|l Serial port error 2: $EE@EIH[Te
iF G90 In queue i Serial port error 1. Ho such
file or directory
5 e Thtsaeiss [CTRL+X] € Grbl 0.9 ['§ for |
- helpl |ﬂ
| < i | ' Connection succeeded ~
[F] Cheek  [#] Seroll [ Open ] [ Feset ] I Send ] Fause Short Input instruction

LU=




3: Software download

BE¥E: https://pan.baidu.com/s/1_ytwY8d6eTWN8cD6MglzMA
#RHAS: DQDZ

(X
vy
@ -"‘-‘-'.' e ..:'I’

-\" .\‘-I .'-’/‘.’ -"
Ty~ -y .ﬂ- .
-'--? - i I’--
e 'b o
e ” N
-'; ../,‘ \\" s



